MTH2111: College Algebra

Assignment #1 is due on Thursday, September 17, 2015 @ 5 pm
SECTION A:
Choose the best answer.
1.
Solve the equation: 
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(a)
–2
(b)
2

(c)
4
(d)
16
2.
If a and b are positive real numbers, then 
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(a)
–32
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0
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32
3.
The solution to the equation 
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(a)
–5
(b)
0
(c)
1
(d)
no solution
4.
Expressed in simplest form, 
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 is equivalent to:
(a)
8x2
(b)
3x2
(c)
3x3
(d)
3x3y
5.
Solve the equation:
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(a)
7/5

(b)
 –7/3

(c)
–13/3

(d)
–3/5
6.
Solve the equation:
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(a)
–2


(b)
 –½


(c)
½


(d)
2

SECTION B:
Show your working for the following problems.
7.
Use the laws of indices to evaluate:


(a)
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(b)
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(c)
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(d)
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8.
Solve the following equations (if possible) using algebraic method:


(a)
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(b)
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(c)
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(d)
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(e)
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